Miskolc Mathematical Notes

# SOLUTION OF COMPLEX DIFFERENTIAL EQUATIONS BY USING REDUCED DIFFERENTIAL TRANSFORM METHOD 

M. DÜZ<br>Received 21 February, 2020


#### Abstract

In this paper, complex differential equations from first and second order with constant coefficients are solved using reduced differential transform method (RDTM). Such equations were previously solved by other methods. While obtaining a solution with these methods, the solution was reached by dividing the equation into real and imaginary parts. With the RDTM used in this study, we found that the solution can be reached without dividing the real and imaginary parts of the equation.An iteration relation is given for the solution of such equations . In addition, a variable coefficient equation was solved with RDTM.


2010 Mathematics Subject Classification: 34B10; 34B15
Keywords: complex differential equation, reduced differential transform method

## 1. InTRODUCTION

The emergence of complex partial differential equations dates back to the beginning of 1900. One of the important mathematicians who made serious studies and left a name in this field was D. Pompeiu, and he described the Pompeiu integral operator, which is called by his name and which forms the basis of the theory of complex differential equations even today

Some applications of complex partial differential equations emerged at a mechanical congress in Canada. The difficulties of some problems in real space have been overcome by the solution methods of complex equations. For instance, the $\Delta u=0$ Laplace equation, an elliptic differential equation (see e.g. [11]), does not have a general solution in real space, but there is a general solution of this equation in complex space. One can find more information about on complex equation in [5, 9, 12].

In this study, solutions of complex differential equations from first and second order with constant coefficients are obtained. Equations which are studied are form that:

$$
\begin{equation*}
A \frac{\partial w}{\partial z}+B \frac{\partial w}{\partial \bar{z}}+C w=F(z, \bar{z}) \tag{1.1}
\end{equation*}
$$

and

$$
\begin{equation*}
A \frac{\partial^{2} w}{\partial z^{2}}+B \frac{\partial^{2} w}{\partial z \partial \bar{z}}+C \frac{\partial^{2} w}{\partial \bar{z}^{2}}+D \frac{\partial w}{\partial z}+E \frac{\partial w}{\partial \bar{z}}+F w=G(z, \bar{z}) \tag{1.2}
\end{equation*}
$$

where coefficients of equations are constant.
Complex differential equations were solved by using integral transforms, Adomian decomposition method [2-4]. While making the solution with these methods, the equation was divided into real and imaginary parts and the process was performed. In this article, the reduced differential transformation method can be used to solve the equation without separating it into real and imaginary parts. Therefore, the solution can be obtained by performing fewer operations. RDTM was proposed firstly by Keskin in [7]. Linear and nonlinear equations and fractional equations are solved with RDTM [1, 6, 8, 10].

This paper has been organized as follows. Basic definitions and theorems associated with RDTM and complex derivative are given in Section 2. In Section 3, for solve of 1.1 and 1.2 equations have been obtained a recursive relation and have been given some examples for validity of the method.

## 2. Basic Definitions and Theorems

Suppose that the two-variable $u(x, y)$ function can be written as $u(x, y)=f(x) g(y)$. With the help of one dimensional differential transformation, the function $u(x, y)$ can be written as follows.

$$
\begin{equation*}
u(x, y)=\left(\sum_{i=0}^{\infty} F(i) x^{i}\right)\left(\sum_{j=0}^{\infty} G(j) y^{j}\right)=\left(\sum_{k=0}^{\infty} U_{k}(x) y^{k}\right) \tag{2.1}
\end{equation*}
$$

where $U_{k}(x)$ is called $y$ dimensional spectrum function $u(x, y)$, and $F(i), G(j)$ are differential transform of $f(x)$ and $g(y)$, respectively.

Definition 1. If a function $u(x, y)$ is analytic and differentiated continuously with respect to $y$ and space $x$ in the domain of interest then let

$$
\begin{equation*}
U_{k}(x)=\frac{1}{k!}\left(\frac{\partial^{k}}{\partial y^{k}} u(x, y)\right)_{y=0} \tag{2.2}
\end{equation*}
$$

where the $y$ dimensional spectrum function $U_{k}(x)$ is the transformed function and $u(x, y)$ is the original function.

Definition 2. The differential inverse transform of $U_{k}(x)$ is defined as follows:

$$
\begin{equation*}
u(x, y)=\sum_{k=0}^{\infty} U_{k}(x) y^{k} \tag{2.3}
\end{equation*}
$$

From (2.2) and (2.3), we get

$$
\begin{equation*}
u(x, y)=\sum_{k=0}^{\infty} \frac{y^{k}}{k!}\left(\frac{\partial^{k}}{\partial y^{k}} u(x, y)\right)_{y=0} \tag{2.4}
\end{equation*}
$$

Theorem $1([7,8])$. If $f(x, y)=a g(x, y)+b h(x, y)$ then $F_{k}(x)=a G_{k}(x)+b H_{k}(x)$, where $a$ and $b$ are constants.

Theorem $2([7,8])$. If $f(x, y)=x^{m} y^{n}$, then $F_{k}(x)=x^{m} \boldsymbol{\delta}(k-n)$
Theorem $3([7,8])$. If $f(x, y)=\frac{\partial^{n} g(x, y)}{\partial y^{n}}$, then $F_{k}(x)=(k+1)(k+2) \ldots(k+$ n) $G_{k+n}(x)$

Theorem $4([7,8])$. If $f(x, y)=\frac{\partial^{n} g(x, y)}{\partial x^{n}}$, then $F_{k}(x)=\frac{\partial^{n} G_{k}(x)}{\partial x^{n}}$.
Theorem $5([7,8])$. If $f(x, y)=g(x, y) \cdot h(x, y)$, then $F_{k}(x)=\sum_{r=0}^{k} G_{r}(x) \cdot H_{k-r}(x)$.
Now, let's give the equals of the first and second order derivatives of a complex function from kind of real derivatives.

Definition 3. First and second order derivatives of $w=w(z, \bar{z})$ as $z=x+i y$ are as follows.

$$
\begin{gather*}
\frac{\partial w}{\partial z}=\frac{1}{2}\left(\frac{\partial w}{\partial x}-i \frac{\partial w}{\partial y}\right)  \tag{2.5}\\
\frac{\partial w}{\partial \bar{z}}=\frac{1}{2}\left(\frac{\partial w}{\partial x}+i \frac{\partial w}{\partial y}\right)  \tag{2.6}\\
\frac{\partial^{2} w}{\partial z^{2}}=\frac{1}{4}\left[\frac{\partial^{2} w}{\partial x^{2}}-2 i \frac{\partial^{2} w}{\partial x \partial y}-\frac{\partial^{2} w}{\partial y^{2}}\right]  \tag{2.7}\\
\frac{\partial^{2} w}{\partial \bar{z}^{2}}=\frac{1}{4}\left[\frac{\partial^{2} w}{\partial x^{2}}+2 i \frac{\partial^{2} w}{\partial x \partial y}-\frac{\partial^{2} w}{\partial y^{2}}\right]  \tag{2.8}\\
\frac{\partial^{2} w}{\partial z \partial \bar{z}}=\frac{1}{4}\left[\frac{\partial^{2} w}{\partial x^{2}}+\frac{\partial^{2} w}{\partial y^{2}}\right] \tag{2.9}
\end{gather*}
$$

## 3. SOLUTION OF COMPLEX DIFFERENTIAL EQUATIONS FROM FIRST AND SECOND ORDER WHICH IS CONSTANT COEFFIENTS

In this section, two theorems for which solution of complex equations from first and second order with constant coefficients have been given and then the samples have been solved according to these theorems.

Theorem 6. Let $A, B, C$ are real constants and $F(z, \bar{z})$ is a function of $z, \bar{z}$. Then a special solution of equation

$$
\begin{equation*}
A \frac{\partial w}{\partial z}+B \frac{\partial w}{\partial \bar{z}}+C w=F(z, \bar{z}) \tag{3.1}
\end{equation*}
$$

with condition

$$
w(x, 0)=f(x)
$$

is

$$
\begin{equation*}
w(z, \bar{z})=\sum_{k=0}^{\infty} W_{k}(x) y^{k} \tag{3.2}
\end{equation*}
$$

where

$$
\begin{aligned}
& (B-A) i(k+1) W_{k+1}(x)=2 F_{k}^{*}(x)-2 C W_{k}(x)-(A+B) \frac{\partial W_{k}(x)}{\partial x}, k \geq 0 \\
& x=\frac{z+\bar{z}}{2}, y=\frac{z-\bar{z}}{2 i}, \text { and } W_{0}(x)=f(x)
\end{aligned}
$$

Proof. If (2.5), (2.6) equalities are used in equality (3.1), which is given in theorem, following equality is obtained.

$$
\begin{equation*}
\left(\frac{A+B}{2}\right) \frac{\partial w}{\partial x}+\left(\frac{B-A}{2}\right) i \frac{\partial w}{\partial y}+C w=F^{*}(x, y) \tag{3.3}
\end{equation*}
$$

where $F^{*}(x, y)$ is obtained by writing $x+i y$ in place of $z$ and $x-i y$ in place of $\bar{z}$ in $F(z, \bar{z})$. If equality (3.3) is regulated then following equality is obtained.

$$
\begin{equation*}
(A+B) \frac{\partial w}{\partial x}+(B-A) i \frac{\partial w}{\partial y}+2 C w=2 F^{*}(x, y) \tag{3.4}
\end{equation*}
$$

If reduced differential transform is applied in equality (3.4) then following equalities is obtained.

$$
\begin{align*}
& (A+B) \frac{\partial W_{k}(x)}{\partial x}+(B-A) i(k+1) W_{k+1}(x)+2 C W_{k}(x)=2 F_{k}^{*}(x) \\
& (B-A) i(k+1) W_{k+1}(x)=2 F_{k}^{*}(x)-2 C W_{k}(x)-(A+B) \frac{\partial W_{k}(x)}{\partial x} \tag{3.5}
\end{align*}
$$

In equality (3.5) $k \geq 0, W_{0}(x)=w(x, 0)=f(x)$.
Theorem 7. Let $A, B, C, D, E, F$ are real constants and $G(z, \bar{z})$ is a polynomial of $z, \bar{z}$. Then a special solution of equation

$$
\begin{equation*}
A \frac{\partial^{2} w}{\partial z^{2}}+B \frac{\partial^{2} w}{\partial z \partial \bar{z}}+C \frac{\partial^{2} w}{\partial \bar{z}^{2}}+D \frac{\partial w}{\partial z}+E \frac{\partial w}{\partial \bar{z}}+F w=G(z, \bar{z}) \tag{3.6}
\end{equation*}
$$

with conditions

$$
w(x, 0)=f(x)
$$

$$
\frac{\partial w}{\partial y}(x, 0)=g(x)
$$

is

$$
w(z, \bar{z})=\sum_{k=0}^{\infty} W_{k}(x) y^{k}
$$

where

$$
\begin{aligned}
W_{k+2}(x) & =\frac{4\left[G_{k}^{*}(x)-F W_{k}(x)-\frac{(E-D)}{2} i(k+1) W_{k+1}(x)\right]}{(B-A-C)(k+1)(k+2)} \\
& -\frac{4\left[\frac{(D+E)}{2} \frac{\partial W_{k}}{\partial x}+2 i \frac{(C-A)}{4}(k+1) \frac{\partial W_{k+1}}{\partial x}+\frac{(A+B+C)}{4} \frac{\partial^{2} W_{k}}{\partial x^{2}}\right]}{(B-A-C)(k+1)(k+2)}, k \geq 0 \\
& W_{0}(x)=f(x), W_{1}(x)=g(x), x=\frac{z+\bar{z}}{2}, y=\frac{z-\bar{z}}{2 i}
\end{aligned}
$$

Proof. If it is used equalities (2.5)-(2.9) in equation (3.6), which is given in theorem, following equality is obtained.

$$
\begin{align*}
& \left(\frac{A+B+C}{4}\right) \frac{\partial^{2} w}{\partial x^{2}}+2 i\left(\frac{C-A}{4}\right) \frac{\partial^{2} w}{\partial x \partial y}+\left(\frac{B-A-C}{4}\right) \frac{\partial^{2} w}{\partial y^{2}} \\
& +\left(\frac{D+E}{2}\right) \frac{\partial w}{\partial x}+\left(\frac{E-D}{2}\right) i \frac{\partial w}{\partial y}+F w=G^{*}(x, y) \tag{3.7}
\end{align*}
$$

where $G^{*}(x, y)$ is obtained by writing $x+i y$ in place of $z$ and $x-i y$ in place of $\bar{z}$ in $G(z, \bar{z})$.

If reduced differential transform is applied in equality (3.7) then following iterative relation is obtained.

$$
\begin{align*}
& \left(\frac{A+B+C}{4}\right) \frac{\partial^{2} W_{k}}{\partial x^{2}}+2 i\left(\frac{C-A}{4}\right)(k+1) \frac{\partial W_{k+1}}{\partial x} \\
& +\left(\frac{B-A-C}{4}\right)(k+1)(k+2) W_{k+2}+\left(\frac{D+E}{2}\right) \frac{\partial W_{k}}{\partial x} \\
& +\left(\frac{E-D}{2}\right) i(k+1) W_{k+1}+F W_{k}=G_{k}^{*}(x) \tag{3.8}
\end{align*}
$$

Using (3.8) iterative relation, following equality can be written.

$$
\begin{equation*}
W_{k+2}(x)=\frac{4\left[G_{k}^{*}(x)-F W_{k}(x)-\frac{(E-D)}{2} i(k+1) W_{k+1}(x)\right]}{(B-A-C)(k+1)(k+2)} \tag{3.9}
\end{equation*}
$$

$$
-\frac{4\left[\frac{(D+E)}{2} \frac{\partial W_{k}}{\partial x}+2 i \frac{(C-A)}{4}(k+1) \frac{\partial W_{k+1}}{\partial x}+\frac{(A+B+C)}{4} \frac{\partial^{2} W_{k}}{\partial x^{2}}\right]}{(B-A-C)(k+1)(k+2)}
$$

where we set $W_{0}(x)=f(x), W_{1}(x)=g(x)$ due to the conditions.
Example 1. Solve the following problem

$$
\begin{gathered}
\frac{\partial w}{\partial z}+2 \frac{\partial w}{\partial \bar{z}}=3 z^{2}+2 \\
w(x, 0)=x^{3}+x
\end{gathered}
$$

Solution. From Theorem 6, we get $A=1, B=2, C=0, F(z, \bar{z})=3 z^{2}+2$, $F^{*}(x, y)=3 x^{2}-3 y^{2}+2+6 i x y$.

From equality (3.5)

$$
\begin{gathered}
i(k+1) W_{k+1}(x)=2\left(3 x^{2}+2\right) \delta(k)-6 \delta(k-2)+12 i x \delta(k-1)-3 \frac{\partial W_{k}(x)}{\partial x} \\
W_{0}(x)=x^{3}+x \\
i W_{1}(x)=6 x^{2}+4-3\left(3 x^{2}+1\right)=-3 x^{2}+1, W_{1}(x)=i\left(3 x^{2}-1\right) \\
2 i W_{2}(x)=12 i x-3.6 i x, W_{2}(x)=-3 x \\
3 i W_{3}(x)=-6-3(-3), W_{3}(x)=-i \\
W_{k}(x)=0, k>3 . \\
\begin{aligned}
w(x, y) & =\sum_{k=0}^{\infty} W_{k}(x) y^{k}=W_{0}(x)+W_{1}(x) \cdot y+W_{2}(x) y^{2}+W_{3}(x) y^{3} \\
= & x^{3}+x+y i\left(3 x^{2}-1\right)-3 x y^{2}-i y^{3} \\
& =x^{3}+3 i x^{2} y-3 x y^{2}-i y^{3}+x-i y .
\end{aligned}
\end{gathered}
$$

Therefore, solution is

$$
w(z, \bar{z})=z^{3}+\bar{z}
$$

Example 2. Solve the following problem

$$
\begin{gathered}
2 \frac{\partial w}{\partial z}-\frac{\partial w}{\partial \bar{z}}=4 z+1 \\
w(x, 0)=x^{2}+5 x
\end{gathered}
$$

Solution. Coeffients of equation are $A=2, B=-1, C=0, F(z, \bar{z})=4 z+1$, $F^{*}(x, y)=4 x+1+4 i y$

From equality (3.5)

$$
\begin{gathered}
-3 i(k+1) W_{k+1}(x)=2(4 x+1) \delta(k)+8 i \delta(k-1)-\frac{\partial W_{k}(x)}{\partial x} \\
W_{0}(x)=x^{2}+5 x \\
-3 i W_{1}(x)=8 x+2-(2 x+5)=6 x-3, W_{1}(x)=i(2 x-1) \\
-6 i W_{2}(x)=8 i-2 i=6 i, W_{2}(x)=-1, \\
W_{k}(x)=0, \quad k>2 \\
w(x, y)=\sum_{k=0}^{\infty} W_{k}(x) y^{k}=W_{0}(x)+W_{1}(x) y+W_{2}(x) y^{2} \\
=x^{2}+5 x+i(2 x-1) y-y^{2}=x^{2}+2 i x y+2(x+i y)+3(x-i y) .
\end{gathered}
$$

Therefore, solution of the example is

$$
w(z, \bar{z})=z^{2}+2 z+3 \bar{z}
$$

Example 3. Solve the following problem

$$
z \frac{\partial w}{\partial z}-\bar{z} \frac{\partial w}{\partial \bar{z}}=2 z^{2}+5 \bar{z}
$$

with the condition

$$
w(x, 0)=2 x^{2}-5 x
$$

Solution. This equation hasn't constant coefficients. Coefficients of the equation are variable. Writing $x+i y$ in place of $z, x-i y$ in place of $\bar{z}$ in the example, from (2.5) and (2.6), the following equalities is obtained as

$$
\begin{align*}
&(x+i y) \frac{1}{2}\left(\frac{\partial w}{\partial x}-i \frac{\partial w}{\partial y}\right)-(x-i y) \frac{1}{2}\left(\frac{\partial w}{\partial x}+i \frac{\partial w}{\partial y}\right)=2(x+i y)^{2}+5(x-i y)  \tag{3.10}\\
&-i x \frac{\partial w}{\partial y}+i y \frac{\partial w}{\partial x}=2 x^{2}-2 y^{2}+5 x+i(4 x y-5 y)  \tag{3.11}\\
&-i x(k+1) W_{k+1}(x)=\left(2 x^{2}+5 x\right) \delta(k)+i(4 x-5) \delta(k-1)-2 \delta(k-2) \\
&- i \sum_{r=0}^{k} \delta(r-1) \frac{\partial W_{k-r}(x)}{\partial x} \\
& W_{0}(x)=2 x^{2}-5 x \\
&-i x W_{1}(x)=2 x^{2}+5 x, W_{1}(x)=i(2 x+5)
\end{align*}
$$

$$
\begin{aligned}
-2 i x W_{2}(x) & =i(4 x-5)-i(4 x-5)=0, W_{2}(x)=0 \\
-3 i x W_{3}(x) & =-2-i 2 i=0, W_{k}(x)=0(k>3) \\
w(x, y) & =\sum_{k=0}^{\infty} W_{k}(x) y^{k}=W_{0}(x)+W_{1}(x) y+W_{2}(x) y^{2} \\
& =2 x^{2}-5 x+i(2 x+5) y .
\end{aligned}
$$

Then,

$$
w(z, \bar{z})=z^{2}+z \cdot \bar{z}-5 \bar{z}
$$

Example 4. Solve the following problem

$$
\frac{\partial w}{\partial z}-\frac{\partial w}{\partial \bar{z}}-w=0
$$

with the condition

$$
w(x, 0)=e^{3 x}
$$

Solution. This equation is homogeneous. Coefficients are $A=1, B=-1$, $C=-1$.

We can write from (3.5) following equality

$$
W_{k+1}(x)=i \frac{W_{k}(x)}{k+1}, k \geq 0
$$

$$
\begin{aligned}
& W_{0}(x)=e^{3 x}, W_{1}(x)=i e^{3 x}, W_{2}(x)=-\frac{e^{3 x}}{2}, W_{3}(x)=-i \frac{e^{3 x}}{6} \\
& W_{4}(x)=\frac{e^{3 x}}{24}, W_{n}(x)=i^{n} \frac{e^{3 x}}{n!}
\end{aligned}
$$

Solution of problem is

$$
\begin{aligned}
W_{0}(x)+W_{1}(x) y+W_{2}(x) y^{2}+W_{3}(x) y^{3}+\ldots . & =e^{3 x}\left(1+i y-\frac{y^{2}}{2}-\frac{i y^{3}}{6}+\frac{y^{4}}{24}+\ldots\right) \\
& =e^{3 x} e^{i y}
\end{aligned}
$$

So,

$$
w(z, \bar{z})=e^{2 z+\bar{z}}
$$

Example 5. Solve the following problem

$$
\frac{\partial^{2} w}{\partial z \partial \bar{z}}=4
$$

with the conditions

$$
\begin{aligned}
w(x, 0) & =9 x^{2} \\
\frac{\partial w}{\partial y}(x, 0) & =10 i x
\end{aligned}
$$

Solution. According to Theorem 7, coefficients of equation which in example are $B=1, A=C=D=E=F=0, G(z, \bar{z})=G^{*}(x, y)=4$.

According to (3.9)

$$
\begin{gathered}
W_{0}(x)=9 x^{2}, W_{1}(x)=10 i x \\
W_{2}(x)=4\left[\frac{4 \delta(k)-\frac{1}{4} \frac{\partial^{2} W_{0}(x)}{\partial x^{2}}}{2}\right]=-1, W_{k}(x)=0(k=3,4,5, \ldots)
\end{gathered}
$$

Solution of problem is

$$
\begin{aligned}
& W_{0}(x)+W_{1}(x) y+W_{2}(x) y^{2}+W_{3}(x) y^{3}+\ldots \\
& =9 x^{2}+10 i x y-y^{2} \\
& =9\left(\frac{z+\bar{z}}{2}\right)^{2}+10 i\left(\frac{z+\bar{z}}{2}\right)\left(\frac{z-\bar{z}}{2 i}\right)-\left(\frac{z-\bar{z}}{2 i}\right)^{2}
\end{aligned}
$$

Therefore,

$$
w(z, \bar{z})=4 z \bar{z}+5 z^{2}
$$

## References

[1] M. O. Al-Amr, "New applications of reduced differential transform method." Alexandria Engineering Journal., vol. 53, pp. 243-247, 2014, doi: 10.1016/j.aej.2014.01.003.
[2] M. Düz, "Application of Elzaki Transform to first order constant coefficients complex equations." Bulletin of the international mathematical virtual institute., vol. 7, pp. 387-393, 2017, doi: 10.7251/BIMVI1702387D.
[3] M. Düz, "On an application of Laplace transforms." NTMSCI., vol. 5, no. 2, pp. 193-198, 2017, doi: 10.12732/ijam.v31i1.2.
[4] M. Düz, "Solution of complex equations with Adomian Decomposition method." TWMS J. App. Eng. Math.., vol. 7, no. 1, pp. 66-73, 2017.
[5] M. Gülsu and M. Sezer, "Approximate solution to linear complex differential equation by a new approximate approach." Appl. Math. Comput., vol. 185, pp. 636-645, 2007, doi: 10.1016/j.amc.2006.07.050.
[6] P. K. Gupta, "Approximate analytical solutions of fractional Benney-Lin equation by reduced differential transform method and the Homotopy Perturbation method." Comp.Math. with Appl., vol. 61, no. 9, pp. 2829-2842, 2011, doi: 10.1016/j.camwa.2011.03.057.
[7] Y. Keskin and G. Oturanç, "Reduced differential transform method for partial differential equations." Int.J.Nonlin.Sci.Lett. A., vol. 1, no. 2, pp. 207-217, 2009, doi: 10.1515/IJNSNS.2009.10.6.741.
[8] Y. Keskin and G. Oturanç, "Reduced differential transform method for solving linear and nonlinear wave equations." Iran. J.. Sci. Technology., vol. 34, no. 2, pp. 113-122, 2010.
[9] F. Lü, W. Lü, C. Li, and J. Xu, "Growth and uniqueness related to complex differential and difference equations." Results in Mathematics, vol. 74, no. 1, Article number: 30, 2019, doi: 10.1007/s00025-018-0945-z.
[10] M. S. Mohamedac and K. A. Gepreel, "Reduced differential transform method for nonlinear integral member of Kadomtsev-Petviashvili hierarchy differential equations." Egyptian Mathematical., vol. 25, no. 1, pp. 1-7, 2017, doi: 10.1016/j.joems.2016.04.007.
[11] M. Ragusa, "Regularity of solutions of divergence form elliptic equations." P. Am. Math. Soc., vol. 128, no. 2, pp. 533-540, 2000, doi: 10.1090/S0002-9939-99-05165-5.
[12] M. Sezer, M. Tanay, B. Gülsu, and M. Gülsu, "A polynomial approach for solving high-order linear complex differential equations with variable coefficients in disc." Erciyes Üniversitesi Fen Bilimleri Enstitüsü Dergisi, vol. 25, pp. 374 - 389, 2009.

## Author's address

## M. Düz

Karabük University, Faculty of Science, Department of Mathematics, 78050, Karabük, Turkey
E-mail address: mduz@karabuk.edu.tr

